
SAP ABAP table CMS_STR_INS_AS_OBJECT {Insurance as object}

CMS_STR_INS_AS_OBJECT

INSUR_STATUS [CHAR (6)]

ONE_TM_CON_CKY [CUKY (5)]

INS_SUM_SRVL_CKY [CUKY (5)]

INS_SUM_DTH_CKY [CUKY (5)]

INS_BENF_EXP_CKY [CUKY (5)]

TCMS_ATT_ID_TY

MANDT [CLNT (3)]

INDICATOR_ID [CHAR (6)]

INDICATOR_TYPE [CHAR (6)]

 CMS_STR_INS_AS_OBJECT-INSUR_STATUS = TCMS_ATT_ID_TY-INDICATOR_TYPE 
0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CMS_STR_INS_AS_OBJECT-INS_BENF_EXP_CKY = TCURC-WAERS 

0..N
1  CMS_STR_INS_AS_OBJECT-INS_SUM_DTH_CKY = TCURC-WAERS 

0..N
1

 CMS_STR_INS_AS_OBJECT-INS_SUM_SRVL_CKY = TCURC-WAERS 
0..N1

 CMS_STR_INS_AS_OBJECT-ONE_TM_CON_CKY = TCURC-WAERS 0..N1


